TR 2011 FHEEM A A5 4E
A 2 EZ R R Begensesan

ZEFH:_ BT A% (A%) 5. _812 Hlbafk: Bt BEE. k¥

|1l

- REE (86 4, H 304

BRANZE JE KA P

B s SN HURTABED (K0 £ 40 A A e A2

EHESMPLRRT, R EE H GH AR ?

HERAEBR R IR MR T IR BN y (r,0,0) , WKL FALE (8, ) 77 IS F dQ h H 34
0<r <aGRINENMBIKMERLZ K?

. TR A IE IR

e

Ul

v CREE 10 4%) K PSR 72, J AR (F=L+S5)

(D v, = 5,,(5,)1,00,9)

2 v, :%{ﬁzl,z(s,m(am+z_],z<sz>xl(e,<o)}

3y, = 71‘3—{\/57(—1/2(&))/10(940) + 212(8)Y ., (0,0)}

(4 v, = 2.,,(5)Y_,00,9)

1S 53) Bl PR R KRS AR — LR RS BN E, Ry, (n it 73k

oF

= OH 10Aly,) -

W5, ’ARHSHOER—ASE, ER.

=(v,

1 V3

. (FH 1549 '&%E?%?%Ew(n@,@:ERZ,(r)Y,O(Q,go)+—2—R2,(r)Y]_1(0,¢), k

(1) B8R H , BRI s 2 i L, o] A HR 48
(2) ER=ABREAWRAE MR,
(3) LR =AERFHE.

- (K209 o, KRG, Ko Rlo, MAEERAGE K.




TR 2011 FHEEM LA RAE

A % Z R R Beremsesas)
2RAFH: BT (A%) %M. _ 812 L& HK: EHpYH, BEES. K%

1 :
fv($%20%)%%?%?%§Wﬂ:?=?ém,*

ma

(1) $i—e’/r I FMH;
(2) B LAz

4. (B 20 5 —NRED m R FE—ELREAG (0<x<a) Fiazh, HETEAR

w(x) = \/7[—51 —+\/7s1n§75], i1

(1) ZRTSEAERBENAILS?
(2) XTW%?}EJM?“F:‘%/”J%, HOTREMI G R BT N IR R 2 /D 2
(3) ATZETHHTRENTFHEREZD?

J\. (B 20) {ERf[E) = 0 B, —DEMETRTAT NIRRT S R

w(x,0) = \/gwo(x) + \/;/fz(x) +eyy(x), Hoy, (x) ZiER TR n DAUEK L.

(1) 8K c FE1E;
(2) B ¢ IR 0 5
(3) #1t=0WRFRENFHERZD? r=1s HLEZD?

[ATFATFRSE, WRHETEenE. |
[ BRI RIE

()= [er'dr, AATHRT(x)=(x-DM(x-1)
HTESn, T(n)=(n-1)
BBkfE: T(1/2) =7 .




